C-39

N1=1.$3899E 15 N2=5.24211E 19 N3=1.63899E 15 N

SIG-2
0.00E-01
4436E-02
8.67E-02
2.09E-01
3.70E-01
4+, T2E-01
5.26E-01
5.21E-01
3.98E-01
2.51E-01
1.83E"C1

SIG-2
0.00E-01
5.51E-02
1.10E-01
2.74E-C1
5.36E-01
7.79E-01
9.95E-01
1.56E Q0
1.71€ CO
1.27E 00
9.54E-01

DT-1
-5,22E-09
-5.21E-09
-3.,25F-09
-3 ., 13E=09
=2: T3 E=09
"2' SIE-OQ
—2024E-09
-T.97€E-10

3.24E-11
1L.97E-10
1.50E-10

DT-1
-7.60E-09
-7.60E-09
~-7.60E-09
~T«S6E=09
-7.43E-09
-7.23E-09
-6.95E-09
"4. 5°E-09
-1.32E-09

4.92E-10
6.10E-10

N1=2.89957E 1€ N2=4.C6570E 19 N3=3.89957E 16 N

SIG-2
0.00E-01
6.51E-02
1.30E-01
3.2 5E=01
6.4TE-01
9.62E-01
1.27€ 00
2.56E 00
3.87E 00
3.93E €O
3.25E 00

DT-1
-1.01E-08
-1'015-08
-1.01E-08
-1l.01E-08
-1.01E-08
-9.,97€E-09
-9.84E-09
-8.47E-09
-5.,20E-09
-8.39E~-10

5.65E-10

N1=1.13C00E 17 N2=3.64715E 19 N3=1.13000E 17 N

P= 50.000 T= 70CC.
B CM-TAL SIG-1
500, =-1.ClE-02 1.30E 0O
1000. =-2.C3E-C2 1.30E 00
2500. =5.C7E-02 1.26E 0OC
50CC. =1.C1E-C1 1.06E 00
7500. =1.52E-Cl1 9.97E-01
10000. =2.C3E-01 9.21E-01
250C0. =5.C7E-Gl1 5.04E-01
50000. =-1.01E 00 2.28E-O1
160000, =-2.C3E CO 9.12E-02
150000. =3.C4E 00 4.S3E-02
p= 50,000 T= 800C.
N1=1.04331E 1¢
B LM-TAU SIG-1
0. 0.CO0E-C1 3.86E 0OC
50. =8.15E-03 3.86E 00
1000. -1l.63E-02 3.85E 0OC
2500. =-4.C8E-C2 3.84E 00
£000. =-8.15E-02 3.55E 00
7500. =1.22E-C1 3.49E QC
1000C. =-1.€63E-01 3.4CE OC
250(00 -‘O.CBE-OI 2063E OC
50000. =-8.15E-C1 1.51E 0OC
100000. =-1.€¢3E 00 6.20E-01
1500€0. =2.45E CO 3.31E-01
pP= 50.0C0 T= 900C.
8 CrM=-TAU SIG-1
0. 0.CCE-Q1 8.4LE 0O
500, =6.C3E-03 §.h4L €O
1000. =-1.21E-02 O§.LLE D
2500. =3.01E-02 &.43E U0
10000. -1.21E-01 8.18E GO
25000. =3.01E-01 7.45E OC
50000. =-6.C3E-01 5.65E 0C
100GC0. =-1.21E CO 2.91E 0OC
150¢00. =1.81E CO 1l.64E 00
F= 50.000 T= 16000,
B OM-T AU SIG-1
Ce 0.CCE-C1 1.59E 01
500. =-4.16E-C3 1.59E 01
1000. =8.32E-03 1.59E 01
2500. =-2.C8E-C2 1.59E 01
7500. =6.24E-C2 1.5S9E 01
10000. =-8.32E-02 1.58E 01
250C0, =-2.C8E-01 1.52E 01
50000. =-4.16E-C1 1.33E 01
1¢C0C0. =-8.32E-C1 8.86E 00
150000. -1.2E8E CO0 5.71E 00

SIG-2
0.00E-01
7.10E-02
1.42E-01
3.55E-01
7.08E-01
1.06F 00
1,41F 00
3.40E 00
5.94E 00
7.89E CO
T.60E 00

DT=-1
-4, T6E-09
-4, T6E-09
-4.76E-09
-4.75E-09
-4074E-09
-4, 73E-‘09
-4,71E-09
-4 .46 E°O9
=3¢ T12E+D9
-2.03E-09
-8.48E~-10

DY=2

0.00E-01
-1.37E-10
-2.72E-10
-6.62E-10
-1.,20E-09
=1 +5TE=09
-1.78E-09
-1.61E=09
-9.,90E~-10
-1.75E-10

DT=-2

0.00E-01
-1.26E-10
-2.51E-10
-6,245=-10
-1,23F-09
-1,.80E-09
-2.33E-09
-4. 29E-09
-4.11E-09
-2.10E-G9
-1.09E-09

DY~-2
0.00E-01

-9,73E-11

-1.94E-10
-4.86E-10
-9.67E-10
-1l.44E-09
-1.90E-09
-4.25E-09
-6.05E-09
-5.07E-09
-3.33E-09

DT-2
0.00E-01
=24 65E-11
-5¢3OE—11
=1.32E=10
-2.65E—10
'3096E-10
-5426E-10
-1.26E-09
-2.18E-09
-2.82E-09
=2.58E-09

LAM-1
L ,5%E-02
I+ 59E~-02
L,55E-0G2
h,GNE=-02
L,G2B-02
h,55E-02
4,66E-02
L,08E-02
3.12E-02
1l .69E-D02
1.03E-02

LAM-1
2.10E-01
2.,09E-01
2 OOQE-OI
2.09E-01
2.09E-Cl
2'08E-01
2.07E-01
1.97E-01
1 -69E-01
1.09E-01
T.17E-02

LAM-1
6.09E-01
6.09E-01
6.09E-01
6.,08E-01
6.08E-01
6.07E-01
6.06E-01
5.93E-01
5.52E-01
4.35E-01
3.25E-01

LAM=-1
1.34E 00
1.34E 00
1.34E 00
1.34E 09
1.34€ 09
1.34E 00
1.34E 00
1.32 00
1.29E 00
1.15E 00
9.76E-01

NTOT=5.24F 19 DEBYE=1.31E-05 LAMBDA=2.20E 02 LNLMBD= 5.39

LAM=-2
0.00E-01
2.21E-04
L, LUE-0L
1,12E-03
2.39FE=03
3,91E-03
5.,71E=03
1.5GE-02
2.05E=-02
2.07E-02
1.74E-02

NTOT=4.59F 19 DEBYE=6.04E-06 LAMBDA=1.16E €2 LNLMBD= 4.75
N2=4.58510E 19 N3=1.04231E 16 N

LAM=-2
0.00E-01
1.02E-03
2.03E-03
5.08E-03
1.01E-02
IOSZE-OZ
2.01E-02
4,7TE-02
8.06E-02
1.00E-01
9.35€E-02

NTOT=4,08E 19 DEBYE=3.32E-06 LAMBDA=7.14E 01 LNLMBD= 4.27

LAM=-2
0.00E-C1
1.92E-03
3.83E-03
9.58E-03
1.91E-02
2 «87E-02
3082E'02
9.33E-02
1.73e-01
2.68E-01
2.95E-01

NTOT=3.67E 19 DEBYE=2.Q5E-06 LAMBDA=4.91E 01 LNLMBD= 3.89

LAM=2
0.00E-01
2.72E-03
5.44E-03
1.36E-02
2.T2E-02
4.07E-02
5.43E-02
1.356-01
2.61E-01
4.65E-01
5.91E-01




— e — e —— T ——
C-40
P= 5C.000 T= 11000. NTOT=3.34E 19 DEBYE=1.39E-06 LAMBDA=3.66E 01 LNL4BD= 3.60
N1=2.71761E 17 N2=3.28178E 19 N3=2.T1761lE 17 N
B CM-TAU S1G=1 SI1G-2 DT-1 D=2 LAM-1 LAM-2
Ce 0.CNE-J1 2.67E 01 0.00E-01 1.26E-08 0.COE-01 2.54E 00 0.00E-01
500 =2.8ZE-C3 2.67E 01 8.41lE-02 1.26E-08 5.7T4E-11 2.54E 00 3.64E-C3
1000. =5.65E-03 2.67E 01 1.68E-01 1.26E-08 L.15E~10 2.54E 00 7.27E-03
2500. =1.41E-CZ 2.67E 01 4.20E-01 1.26E-08 2.87TE=10 2.54E 00 1.82E-C2
5000. =2.8ZE-02 2.66E 01 8.40E-01 1. 26E-08 5S.73E-10 2.54E 00 3.64E-02
75C0. =4.23E-C2 2.66E 01 1.26E 00 1.26E-08 8.58E=10 2.54E 00 5.45E-02
10000« =5.65E-02 2.6€E 01 1.68E 00 1.25E-08 1.14E-09 2.54E CC 7.27E-02
25000. =-1.41E-C1 2.60E 01 4.1CE 00 1.21E-08 2.78E-09 2.53E 00 1.81E-01
50000. =-2.82E-C1 2.42E 01 T7.64E 00 1.07E~-08 5.11E-09 2.49E 00 3.56E-01
10C¢000. =5.65E-01 1.91E 01 1.20E 01l 6.89E-C9 T<58E=09 2.35E 00 6.72E-01
150000. =-8.47E-C1 1.41E 01 1.32E 01 3.45€-09 T.68E-09 2.15E 00 9.21€-01

P= 50.000 T= 12000.

NTOT=3.06E 19 DEBYE=1.01E-06 LAMBDA=2.91E 0Ol

N1=5,57CT71E 17 N2=2.94671E 19 N3=5.57C7T1lE 17 N4=3.85382E 10 N

8
C.
5C0.
10C0.
25C0.
50C0.
75C0.
10000.
250C0.
500C0.
100000.
150000.

pP= 50.000 T=

B
0.
5C0.
1000.
25C0.
5000.
75C0.
100C0.
25000.
50000.
100000.
150000,

P= 50.000 T=

B
0.
500.
1000.
25C0.
5000.
75C0.
10000.
25000.
£00GC.
10000C.
150000.

CM=-TAU SIG-1
0.CCE-01 3.S6E 01
=1.G5€E-C3 3.96E 01
-3.92E-C3 3.,96E 01
-9.7SE-C3 3.96E 01
-1.56E-02 3.96E 01
-2.54E-C2 3.S96E 01
-3,92E-C2 3.95E 01
-9,79E-C2 3.91E 01
-1.S6E-01 3.76E 01
-3.92E-01 3.25E 01
-5.87E=-01 2.67E 01

13000.

CM-TAU SIG-1
0.CO0E-01 5.45E 01
-1.40E-03 5.45E 01
-2.81E-03 5.45E 01
-T<C1E-C3 5.45E 01
-1.4CE-C2 5.45E 01
-2.1C0E=-C2 5.45E 01
-2.81E-C2 5.44E 01
-7.C1lE-02 5.41E 01
-1.4CE-C1 5.28E 01
-2.81E-01 4.E4E 01
-4.21E-01 4.25E 01

140CC.

CM-TAU SiG-1
0.00E-C1 7.07E 01
-1.C6E-C3 7.07E 01
-2.11E-03 7.07E 01
-5.28E-03 7.C7E O1
-1.C6E-C2 7.C7E 01
-1.58E-02 7.C7E 01
-2.11E-02 7.07E 01
-SOZBE-OZ 700‘(5 01
-1.C6E-C1 6.93E 01
-2.11E=C1 €.55E 01
-3.17E-01 6.00E 01

SIG-2
0.,00E-01
9.20E-02
1.84E-01
4.60E-01
9.20E-01
1.38€E €O
1.84E 0O
4.54E 0O
8.72E 00
1+51E 01
l.84E 01

SIG-2
0.00E-01
9.62E-02
1.92E~01
4.81E-01
G.62E-01
1.44E 00
1.92E 00
4.7T7TE 00
9.32E 00
1.70E 01
2.23E 01

SIG-2
0.00E-01
9.88E-02
1.98E-01
4.94E-C1
9.87E-01
1.48E
1.97E
4.91E
9.68E
1.83€ 01
2.50E 01

D=1
4,52E-08
4.52E-08
4.52E~-08
4.,52E-08
4.52E-08
QUSOE-OB
4.43E-08
4,17E-08
3.31E-08
2.33E-08

DT=1
9.64E-08
9.64E-08
9. 64E-08
9.63E-08
9.63E-08
9.63E‘08
9.62E-08
9.52E~-08
9.19E-08
8.02E-08
6.48E-08

DT~1
1 .68E"07
1.68E-07
1. 68E-07
1.68E-07
1.68E-07
1.68E-07
1.68E-07
1.67E-07
1.63E-07
1049E-07
1.29E=-07

DT-2
0.00E-01
l.44E-10
2.89E-10
T.21E~10
1.44E_09
2.16E-09
2.88E-09
T7.10E-09
1.36E-08
2.29E-08
2,70E-08

D=2
0.C0E-O01
2.33E-10
4,66E-10
1.16E-09
2. 33E-09
3-49E-09
4.65E-09
1.,156-08
2.24E-08
4.05E-08
5.19E-C8

DT-2
0.,00E-01
3.25E=190
60 50E"10
1.63E-09
3.25E-09
4.87E-09
6.50E-09
1. 62E-08
3517E-(8
7.99E-08

LAM-1
4.33E
4y 33E
4.33E
4.33E
4+33E
4.33E
4.33E
4.31E
4.27E
4.12E
3.89E

NTOT=2.82E 19 DEBYE=7.78E-07 LAMBDA=2.42E Ol
N1=1.C2328E 1€ N2=2.€1823E 19 N3=1.02328E 18 N4=3.T72522E 11 N

LAM-1
6+ 86E
6.86E
6.86E
6 «86E
6.86E
6.86E
6 .86E
6.85E
6 .80E
6.63E
6.4 36E

NTOT=2.62E 1S DEBYE=6.26E-07 LAMBDA=2.10E 01
N1=1.69980E 18 N2=2.28129E 19 N3=1.69979E 18 N4=2.64C10E 12 N

LAM-1
1.02E
1.02E
1.02E
1.02E
1.02E
1.02€E
1.02E
1.02€E
1.02€E
9,95E
9. 64E

LNLMBD= 3,37

00
(610)
00
00
00
00
(4]0
00
09
00
00

LAM=-2
0.00E-01
4.80E-03
9.61E-03
2.40E-C2
4 .80E-02
T.20E=-02
9.60E-C2
2.39E-01
4.74E-01
9.14E-01
1.29€E 00

LNLMBD= 3,19

LAM-2
09 0.,00E-01
00 6.32E-03
00 1.26E-02
00 3.16E-02
00 6.32E-02
00 9.47E-02
00 1.26E-01
00 3.15E-01
00 6.26E-01
00 1.22E 00
00 1.75e 0OC
LNLMBD= 3.04
LAM-2
01 0.00E-O1
01 8.19E-03
0l 1.64E-02
01 4.10E-02
01 B8.19E=02
0l 1l.23E=01
01 1.64E<C1
01 4.09E-01
nl 8.13E-01
0% 1.59E .00
07 2.3CE 00




